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Note : (1) This question paper comprises of a total of 30 questions with a maximum of 60 marks. It  
                  has a maximum time limit of 90 minutes. 

                  Aa p`Snap~maaM kula 30 pS̀naao Co jonaaM kula gauNa 60 Co ,]<arao laKvaa maaTo mah<ama ek 

        klaak Anao ~Isa imanaITnaao samaya Co , 

      (2) Select the correct option from those  given under each question. 

                    drok p̀SnanaI naIcao Aapolaa jvaabanaa ivaklpao pOkI saacaao jvaaba psaMd krI tmaarao  

         jvaaba TIk  krao , 

SECTION  : A 

ivaBaaga : A              વિભાગ :  A                                    

( I )  Decide whether the following statements are  TRUE  or FALSE : 1 mark each.                          [ 5 ]       

       naIcao Aapola drok ivaQaana saacauM Co ko KaoTuM to nakkI krao : droknaao 1 gauNa ,  

   નીચે આપેલ દરેક વિધાન સાચ ું છે કે ખોટ ું તે નક્કી કરો : દરેકનો 1 ગ ણ.     
   (1)   If two angles are supplementary to each other ,they form a linear pair. 
 
               jao bao KUNaa ekbaIjanaa pUrkkaoNa haoya tao to rOiKkkaoNanaI jaoD banaavao Co , 

 

                                         (a)   True      (b)    False 
 

      (2)   If  𝐴𝐵̅̅ ̅̅  and  𝐶𝐷̅̅ ̅̅   have  the  same mid point  and  AB = CD  then  𝐴𝐵̅̅ ̅̅  = 𝐶𝐷̅̅ ̅̅  . 
 

              jao 𝐴𝐵̅̅ ̅̅  Anao  𝐶𝐷̅̅ ̅̅   nao samaana maQyaibaMdu haoya Anao  AB = CD   tao    𝐴𝐵̅̅ ̅̅  = 𝐶𝐷̅̅ ̅̅  .     
 
                                           (a)   True     (b)    False        
                                                                                
      (3)  In a triangle the angle formed by a side at its orthocentre and the angle at the corresponding   
             vertex are supplementary to each other.  
 

            i~kaoNamaaM tonaI ek baaju vaDo tonaa laMbakond` AagaL AMtratao KUNaao Anao Anaurup  

iSaraoibaMdu AagaLnaao KUNaao prspr pUrkkaoNa haoya Co . 

 

                                            (a)   True     (b)    False      
                                                                                   

      (4)   If   P – Q – R   then  𝑃𝑄⃗⃗⃗⃗  ⃗  =  𝑅𝑄⃗⃗⃗⃗  ⃗ . 
 

               jao  P – Q – R   tao  𝑃𝑄⃗⃗⃗⃗  ⃗  =  𝑅𝑄⃗⃗⃗⃗  ⃗ .               
                  
                                             (a)   True     (b)    False     
                                                                                      
(5)   In a circle , 𝐴𝐵̅̅ ̅̅     and  𝐶𝐷 ̅̅ ̅̅ ̅  are two chords and their corresponding distances from the centre 
        are  p1   and  p2  . If    AB   >   CD   then   p1  <   p2 .     
 

        ek vatu-LmaaM 𝐴𝐵̅̅ ̅̅    Anao   𝐶𝐷 ̅̅ ̅̅ ̅  bao jIvaaAao Co Anao  kond`qaI tomanaa AMtrao Anauk`mao  p1   Anao 



    p2   Co.  jao   AB   >   CD   tao    p1  <   p2 .   
                                                 (a)   True     (b)    False            
 
 
                                                                         

( II)   Choose correct  answer from the options given below each question : 1 mark each .                 [5], 

         naIcaonaa drok p`SnanaI naIcao Aapolaa ivaklpao pOkI saacaao jvaaba psaMd krao: droknaao 1 gauNa  

નીચેના દરેક પ્રશ્નની નીચે આપેલા વિકલ્પો પકૈી સાચો જિાબ પસુંદ કરો :  

 

(1)  If △ABC  ~  △ PQR then which of the following is true ? 
 
jao   △ABC  ~  △ PQR  haoya tao naIcaonaamaaMqaI kyauM ivaQaana saacauM Co  ? 
 
(a) △ABC  ~  △ RQP  (b)    △BAC  ~  △ QRP  (c)  △BAC  ~  △ QPR  (d)  △CBA  ~  △ RPQ 

 
 
 

(2)  In △ABC ,  M is  the mid point of 𝐵𝐶̅̅ ̅̅  .  If   AM = 
1

2
   BC  ,find   m ∠ A  . 

 

  △ABC maaM 𝐵𝐶̅̅ ̅̅   nauM maQyaibaMdu M   Co , jao    AM = 
1

2
   BC  haoya tao  m ∠ A  SaaoQaao . 

 

 (a)     90     (b)     120     (c)     80      (d)     100 
 

       (3)    In  △ABC , D is on 𝐵𝐶 .̅̅ ̅̅ ̅   𝐷𝐸̅̅ ̅̅   and  𝐷𝐹̅̅ ̅̅   are angle bisectors of ∠ ADB and  ∠ ADC respectively . 
                Find  m ∠ EDF . 
 

                 △ABC maaM  ibaMdu  D ,   𝐵𝐶̅̅ ̅̅   pr Co ,   𝐷𝐸̅̅ ̅̅   Anao   𝐷𝐹̅̅ ̅̅   Anauk`mao  ∠ ADB  Anao  ∠ ADC naa   

       kaoNaiWBaajkao Co , m  ∠ EDF  SaaoQaao ,  
 

(a)     120     (b)     60     (c)     100      (d)     90 

 

(4)        In the adjoining  figure, in △  PQR  ,  𝐴𝐵̅̅ ̅̅    ǁ  𝑃𝑅̅̅ ̅̅   and  
       𝐴𝐶̅̅ ̅̅     ǁ   𝑃𝐵 ̅̅ ̅̅ ̅ . Which of the following is true     ? 
 

      baajunaI AakRit △ PQR maaM   𝐴𝐵̅̅ ̅̅    ǁ  𝑃𝑅̅̅ ̅̅    Anao  , 𝐴𝐶̅̅ ̅̅    ǁ   𝑃𝐵 ̅̅ ̅̅ ̅  Co ,  

   naIcaonaamaaMqaI kyauM ivaQaana saacauM Co  ? 
 
  (a)  QA × CB  =  AP  ×  QB .    (b)  QA × QB  =  AP  ×  CB .     

(c)  QA × BR  =  AP  ×  QB .    (d)  None of these             
 

 (5)     In △ABC , D is the mid- point of 𝐴𝐵̅̅ ̅̅   , E is the mid- point of 𝐷𝐵 ̅̅ ̅̅ ̅ and F is the mid- point of     
        𝐵𝐶 ̅̅ ̅̅ ̅. If the area of the △ ABC  is  80 , sq. units find the area of the △AEF. 
 

       △ABC maaM  , 𝐴𝐵̅̅ ̅̅   nauM maQyaibaMdu  D Co ,  𝐷𝐵 ̅̅ ̅̅ ̅  nauM maQyaibaMdu   E   Co Anao  𝐵𝐶 ̅̅ ̅̅ ̅  nauM maQyaibaMdu   F  Co , 

   jao   △ ABC   nauM xao~fL  80  caao.ekma haoya tao △AEF  nauM xao~fL SaaoQaao , 

 

(a)    50 sq. units       (b)      30 sq. units     (c)     60 sq. units    (d)   none of these . 
 
 
 
 
 
 

 



SECTION -B 

ivaBaaga  -B 
 

       Choose correct  answer from the options given below each question : 2 marks each .               [30], 

       naIcaonaa drok pS̀nanaI naIcao Aapolaa ivaklpao pOkI saacaao jvaaba psaMd krao: droknaa  2  gauNa  
 

(1) In the net of the adjoining figure , number  1  to  6  are marked in each square. The net is 
folded to form a cube. The number appears on the opposite face of 6 is _____.  
 

baajumaaM Aapola ‘naoT’ maaM drok caaorsamaaM 

      1 qaI 6 sauQaInaI saM#yaaAao laKolaI Co ,Aa                        ②  

      naoTnao vaaLInao samaGana banaavavaamaaM Aavao 

      tao  6 laKolaI sapaTInaI saamao AavatI saM#yaa _____. 
 

(a) 4      (b)      3       (c)     2      ( d)       1   
 

                                                                                  
(2) The length  of the longest pole that can be kept in a room with length 12 m , breadth 9 m 

and height  8 m is _____. 
 

12  maI laaMbaa , 9 maI phaoLa Anao 8 maI }Mcaa AaorDamaaM maUkI Sakaya evaa  maaoTamaaM maaoTa  

qaaMBalaanaI laMbaa[     = ______. 
 
(a)  17 m     (b)     29 m      (c)    21 m         (d)     19 m    

 
(3)  The ratio of the total surface area to the lateral surface area of a closed cylinder with base     

 radius  80 cm and height   20  cm is _____. 
 

payaanaI i~jyaa    80 saomaI Anao }Mcaa[   20  saomaI haoya tovaa baMQa naLakarnaa kula xao~fL 

Anao paSva- pRYzfLnaao gauNaao<ar      = _____ . 
 
(a)    3 : 1      (b)   2 : 1    (c)      4 : 1      (d)     5 : 1       

 
 

 
(4)  ABCD  is a square . Find the area of the shaded region . 

 

ABCD  caaorsa Co , CayaaMikt BaaganauM xao~fL SaaoQaao ,                  

 

(a)       23 sq. units      (b)    25 sq. units      
(c)       21 sq. units      (d)    17 sq. units 

 
 
 
 

(5) In the given figure , 𝐴𝐵̅̅ ̅̅   ǁ  𝐶𝐷̅̅ ̅̅  . The value of  x = ______. 
 

AapolaI AakRitmaaM 𝐴𝐵̅̅ ̅̅   ǁ  𝐶𝐷̅̅ ̅̅   Co ,   x  nauM maUlya  = ______.                              ④ 
 
(a)    134      (b)       57        (c)       33        (d)        47 

 
 
 

 

 

 



 
(6) In  △ ADC ,  B is a point  on  𝐷𝐶̅̅ ̅̅   such that AB = DB . 

 Also   m∠CAB  :  m∠BAD  =  1 : 3 . If  m ∠CAE  = 108 ,  
 then, m∠ACD = _____.                                                                                                          

                                                                               

△ADC maaM   𝐷𝐶̅̅ ̅̅   pr ibaMdu   B  evauM Co ko joqaI   AB = DB . 

vaLI  m∠CAB  :  m∠BAD  =  1 : 3 . jao   m ∠CAE  = 108 ,   

tao , m∠ACD = _____. 
 
(a)    44      (b)     54      (c)      80        (d)        60      

 
(7) In an isosceles triangle, If the vertex angle is twice the sum of the base angles, the measure 

of the vertex angle is =  _______. 
 

ek samaiWbaaju i~kaoNamaaM iSar:kaoNanauM maap  ,  payaanaa KUNaanaa maapaonaa sarvaaLanaa 

bamaNaa joTlauM haoya tao iSar:kaoNanauM maap =_______ 
 
(a)       90        (b)       130        (c)       120          (d)       60  

 
 
 

(8)  In the given figure ,  AC = BC  and   AB = AD .  
 If  m∠ADC = 110 ,  m∠ACB = _____.  
        

baajunaI AakRitmaaM    AC = BC Anao   AB = AD Co ,,                     ⑥ 

jao   m∠ADC = 110  haoya tao  ,  m∠ACB = _____.         

 

(a) 30   (b)   50   (c)  60    (d)     40               
 
 
 
 

(9) ABCD is a square with AB = 2 units. The area 
 of the shaded region is = ______ sq. units.                                                                        
 

ABCD caaorsa Co jyaaM  AB = 2 ekma. CayaaMikt  

p`doSanauM xao~fL   = _____ caao.ekma.  
 

               (a)  𝜋      (b)   2𝜋     (c)     √2𝜋    (d)   
𝜋

2
     

 
 

(10)    ABCD  is a rectangle with breadth BC = 3 units and length AB = 4 units. 𝐷𝑀̅̅ ̅̅ ̅ ⊥ 𝐴𝐶̅̅ ̅̅  . 
   Then CM = _______ units. 
 

   ABCD laMbacaaorsa Co jonaI phaoLa[  BC= 3 ekma Anao laMbaa[  AB = 4 ekma Co , 

   𝐷𝑀̅̅ ̅̅ ̅ ⊥ 𝐴𝐶̅̅ ̅̅    Co ,tao  CM= ______ ekma 

 

  (a)    5     (b)      
16

5
        (c)      

4

5
      (d)       

9

5
       

 
 
 
 

 

 

 



 
(11)     In  parallelogram ABCD , 𝐷𝑃̅̅ ̅̅   and   𝐶𝑃̅̅̅̅   are angle 

    bisectors of ∠ D  and ∠C respectively . 
    m∠DPC = _____. 
 

   samaaMtrbaaju catuYkaoNa  ABCD maaM  𝐷𝑃̅̅ ̅̅    Anao    𝐶𝑃̅̅̅̅                                                ⑧ 

   Anauk`mao   ∠ D   Anao ∠C  naa kaoNaiWBaajkao Co ,   
   m∠DPC = _____. 
 

  (a)    B + C     (b)     
1

2
 [

𝐴+𝐵

2 
]     (c)    A + B      (d)    

𝐴+𝐵 

2
         

 
 
 
                                                                                                                                   

   (12)     ABCD  is a square in which the diagonals intersect each other in  O . If the area of the 
               square is  4 sq. units   ,  the sum of the perimeters of the four triangles =______ units. 
 

               caaorsa  ABCD naa ivakNaao- prspr   O  maaM Codo Co ,jao caaorsanauM xao~fL 4  caaorsa ekma  

       haoya tao caaorsamaaM banata caar i~kaoNaaonaI pirimaitnaao sarvaaLao = _____ ekma.        
 

(a)   8 ( 2 + √2 )    (b)   4 ( 1 + √2 )    (c)     8 ( 1 + √2 )    (d)    4 ( 2 + √2 )     
 
 
 
 
 

(13)        In the given diagram , 𝐴𝐵̅̅ ̅̅   ǁ   𝐶𝐷̅̅ ̅̅  .  𝐸𝐹̅̅ ̅̅   bisects 

        ∠ BEC  and 𝐸𝐺̅̅ ̅̅  ⊥ 𝐸𝐹 ̅̅ ̅̅̅ .m∠ B = 100 . 
        m ∠BEG =_______ and  m ∠DEG =_______.      
                                                 

        AapolaI AakRitmaaM   𝐴𝐵̅̅ ̅̅   ǁ   𝐶𝐷̅̅ ̅̅   Co , 𝐸𝐹̅̅ ̅̅   ,  ∠ BEC  naao 

   iWBaajk Co Anao    𝐸𝐺̅̅ ̅̅ ⊥ 𝐸𝐹 ̅̅ ̅̅̅ . m∠ B = 100 .       

        m ∠BEG =_______  Anao m ∠DEG =_______. 
 

(a)  50 , 40    (b)  40 , 50   (c)   40 ,40   (d)   50 , 50  
 
 
 
 

  (14)       In the diagram , ABC is a triangle and 𝐴𝐸̅̅ ̅̅    ǁ   𝐵𝐷̅̅ ̅̅  . 
                m∠CBD = 25  and m∠CAE = 3 m ∠CBD .  
                m∠C =________. 
 

               AakRitmaaM    △ABC  Co Anao  𝐴𝐸̅̅ ̅̅    ǁ   𝐵𝐷̅̅ ̅̅   Co ,                                                             ⑩ 

                m∠CBD = 25  Anao    m∠CAE = 3 m ∠CBD .           
                m∠C =________. 
 
               (a)      40     (b)     50      (c)     60     (d)      75 
 
 
 
 
 

 

 

 



 
 

 (15)       A circle with centre  O  is given  and  𝐴𝐵̅̅ ̅̅   is a chord at distance  6  units from the centre. 

               If the circumference of the circle is 12√2𝜋 units ,    AB = _____ units. 

        O  kond`vaaLa  vatu-LmaaM jIvaa  𝐴𝐵̅̅ ̅̅    kond`qaI 6 ekma AMtro Co ,jao vatu-Lnaao prIGa  12√2𝜋   

        ekma haoya tao   ,    AB = _____ ekma. 
 

 (a)    12     (b)     18      (c)     12√2       (d)    10    
 

SECTION – C 

ivaBaaga - C 

       Choose correct  answer from the options given below each question : 4 mark each .                 [20], 

       naIcaonaa drok pS̀nanaI naIcao Aapolaa ivaklpao pOkI saacaao jvaaba psaMd krao: droknaa  4  gauNa 
 

 

                                                                                                            
(1)  In the adjoining figure , each small square is 1cm2 . 

The area of the shaded region is______cm2. 

 

baajunaI AakRitmaaM drok naanaa caaorsanauM                             ⑪ 

    xao~fL 1   saomaI2 Co ,CayaaMikt BaaganauM 

    xao~̀FL=_____saomaI2 , 

 

   (a)   32      (b)       36     (c)     40      (d)   44                                                                      
 
 
 
 
 
 
 

(2)  In the adjoining diagram , ABCD  is a square. P ,Q , R , S  

 are mid-points of each side.   𝑃�̂� and 𝑆�̂� are quadrants 
 of circles with B  and  D  as centres and  BP  as radius.  

 𝑃�̂� and  𝑅�̂� are parts of the circle passing through  P , Q ,                                           ⑫ 
 R and S . If  AB = 20 cm.   the area of the shaded  
 region=_____cm2. 
 
baajunaI AakRitmaaM  ABCD  ek caaorsa Co Anao  P , Q , 

R  Anao  S  tonaI baajuAaonaa maQyaibaMduAao Co ,   𝑃�̂� Anao   

𝑆�̂�, Anauk`mao B  Anao D  kond` Anao  BP  i~jyaavaaLa 

vatu-Lnaa  
1

4
  Baaganaa caap Co ,     𝑃�̂�  Anao  𝑅�̂�;  P , Q , R  Anao   S maaMqaI psaar qata vatu-Lnaa caap 

Co ,jao AB = 20  saomaI haoya tao CayaaMikt BaaganaMu   xao~FL  =______saomaI2 . 
 
  (a)      200        (b)        180        (c)        220        (d)        250 
 
 
 
 
 

 

 

 



(3)  In equilateral   △ ABC ,  𝑃𝑄̅̅ ̅̅   ǁ  𝐵𝐶̅̅ ̅̅   is drawn so that  (area of △APQ ) = 
1

2
  (area of △ABC ) .  

 If   BC = 8 cm .,AP = ______ cm. 
 

samabaaju    △ ABC maaM ,  𝑃𝑄̅̅ ̅̅   ǁ  𝐵𝐶̅̅ ̅̅    e rIto daorolaao Co ko joqaI   

 ( △APQ nauMxao~fL  ) = 
1

2
 (△ABCnauMxao~fL)  qaaya , jao BC = 8 saomaI tao AP =______ saomaI. 

 

(a)      2√5       (b)       16√3          (c)         5√2         (d)        4√2        
 
  

(4)  Two circles with centres  A  and  B  and radius  2  units 
 touch each other externally at  C . A third circle with 
 centre C  and radius  2  units meet the other two in  D                                              ⑬ 
 and  E  as shown. Area of  the quadrilateral  
ABDE = _____ sq. units. 
 

 A  Anao  B kond` Anao  2 ekma i~jyaavaaLaM bao vatu-Lao 

prspr baharqaI   C  maaM spSa-o Co ,  C  kond` Anao 2 ekma 

i~jyaavaaLuM ~IjuM vatu-L ]prnaa bao nao   D Anao   E maaM 

AakRitmaaM dSaa-vyaa p`maaNao Codo Co ,   catuYkaoNa   ABDE nauM xao~fL   = _____caao ,ekma , 

 

(a)   6√3        (b)    3√2         (c)    6√2       (d)      3√3 
                                                              

 
(5)    Two semi circles are constructed as shown in the figure. The chord 𝑃𝑄̅̅ ̅̅  of the greater circle   

         touches the smaller circle and is parallel to  𝐴𝐵̅̅ ̅̅  .                                                   
         If  PQ = 10 units then the area of the shaded       
         region = _____sq. units. 
 

         AakRitmaaM dSaa-vyaa p`maaNao bao AQa-vatu-Lao daorolaaM Co , 

    maaoTa vatu-LnaI jIvaa   𝑃𝑄̅̅ ̅̅   naanaa vatu-Lnao spSao- 

    Co Anao   𝐴𝐵̅̅ ̅̅  nao samaaMtr Co ,jao PQ = 10 ekma haoya  

    tao CayaaMikt BaaganauM xao~fL   = _____caao ,ekma,. 

 

(a)       50 𝜋         (b)       50          (c)         
25𝜋

2
           (d)            

25

2
 

 
 
________________________________________________________________________ 
  

 

 


